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It excludes this which is lacking writing, cutting, etc.

Overview

The X n1 explained that after writing the vi on a horn of the cow, he must give the
entire cow to the woman and cannot just cut of the horn (on which the va is written)
and give it to her, for the 7m0 writes 1011 "2 2Ny that the giving must follow the
writing, but in this case there is also the 7¥°Xp (cutting of the horn) between the 72°n>
73°n11, and this is proscribed by the 1011 2n21. Our MdOIN discusses these restrictions.

= YPIPY 931NN IN DN YTYAT RPIT ININIY 13929 W9
The @' explained that this restriction of 7x°Xp 7077 is specifically by a live

animal or something which is attached to the ground -
- ANP TOIND YN NN 92T PIYY

For since he is uprooting something from where it grows; that is considered

AXORP 0INR, but merely cutting the 03 from a larger paper is not considered 7X°Xp 017 —

The w"2 offers proof:
— 2273 \O8Y YW 1YY DY 1aNIYWI NI AN NIDIIN 11NDAT Y1

And you know that this is so, for shortly 837 "ax argue® in a case where one

wrote the ©3 on a leaf of a plant which was growing in a perforated flowerpot -
=Y DIVP? IDON “YNYN 21D 1INV AN DIVP NIV 1) NavT

Where X21 invalidates the 03 because of an injunction that perhaps he may snip
off the leaf with the v3 (and then it is 7%°Xp 7011); however by a non-perforated

flowerpot it seems that even if he snips it off it will be valid.
= W5 N 9D 19NN 99 NN DITH 40P VI AN ONI IWIT92 NIYNY Y29 297 YWD 199

And ynw 27 also explained it in in this manner in his commentary, so if one
wrote a ¥} on a large parchment and tore off the vi afterwards, it will be w>
according to this view.

! See the bottom of this Tmy.
2 We generally consider those plants growing in an 201 7%V as being yp1p% 72117 (attached to the ground), and those
growing in an 21p1 KW Y78 as being w12n (unattached to the ground).
3 »ax maintains that if a v3 was written on a plant leaf growing in an 2171 y°xv, and he gave her the entire 73y, it is a
w3 v3 (there was no 7%°X¥p in between); however X211 maintains that it is 2109 (as N901N continues).
4 The inference is that if there is an issue of 7¥¥p 70Wn always (even if something is not ¥ppP% 721M), the npY?mn of
X237 **aK should be even by an 231 1°Xw y>xv, and X237 should maintain that it is 2109 because of owp> ®aw. The fact
that they argue (only) by an 2391 y°%v (which is [considered] ¥p7p? 721mn) indicates that by an 233 °RW y°%¥ (which is
not ¥Ypp° 721n) even if he is avp it will be w>.
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= 9911 9917) 195Y 1PIN 15D DNIN 2293 PNYY 13929 291 %2 DY NYYNY
And such an episode happened in the time of 2m» 5392 prx> 9"7 and he

disqualified the v3, and the great scholars of his generation disagreed with him -
= 999010 NN 0N 19929 199 YOI MDY MaLN Hyay

However the 27712 disqualifies such a 03, and similarly the n''9 was stringent and
did not allow such a v —

Mmoo explains why the n'"1 was amn:
= 61959193 1Y 2519 MY DIPYWT YWD 2P NO8Y YV DN DY 13N 579002 MNINPINH

Since the X713 states shortly; ‘he wrote the Vi on the clay of an 21p1 oY, it is 9w,
for he takes the entire y°x¥ and gives it to her’ —

nooIn responds to an anticipated difficulty:’
= $192)W5 797 PRT PPN 93W NPV ITINIY NXIYTT DIVN NI NDY II9 NIT N

And the reason X239 does not argue on this ruling (that “w> 21 091 v 2n), is
because we cannot make an injunction that perhaps he will break the y>x¥, for
it is not usual to break an y>xy, as it is to snip off a leaf —

Mmoo proves that we do not make a 77713 if it is not the 777:
= DIVPI NNY 19293 NHYA RPIT N8POD T9T PRT N8P NIY 1399%) DT 199 DY 19P2 md

Just like the case where he wrote the vx on a horn of a cow, where it 1s 2> if he
gives her the cow, and we are not 9113 perhaps he will cut off the horn, because it
is not usual to cut off the horn from a cow, and the 779313 of 2wps X»w is only
specifically by a leaf, where it is usual to snip off a leaf —

moo1n now refutes the proof of HXmw 1a7:°
= 2373 139NWI 11N NINT 2993 O8Y HY 1YY VPI RPITIND

And when the X713 cites the dispute between X271 2R, the X712 did not mean that
their dispute is exclusively by an 211 y53p %@ 775 (as the w" assumed), rather the

5 See footnote # 1.
¢ The implication is that it is a valid 3, because he gave her the entire y>¥v; however if he would break off the 3 from
the rest of the y°x¥ it would be invalid even though the y>%v (despite the fact that it is 23p3) is not ¥pp% "2, [It is
only the plant which grows in an 231 y°¥¥ which is considered ¥pap% 221 since it is nourished by the ypap (see
footnote # 2), but not the y*x¥ itself.] See ‘Thinking it over’ # 1.
7 Now that we say (according to n"9) that if he would break the 7°%¥ it would be 2109 (because it is 7¥°¥p 70I17) then
why is this case of y°xv different from the case of y*xy 5w 19y where X237 is 7010 because of a 7713 of Dwp* Xnw; here
too he should be 01 because of the same 777°13 of Maw> XAW!
8 A person does not want to destroy a usable y>xv.
? See footnote # 4.
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same dispute is by an 2I3p1 1RW 17XV -
= 95091 29732 192ANT NYVPI ANT 1IN DIVN NON

But he mentioned 271 because of the novelty of »2R that he is = wo» even if it
was an 221 y°XV (for »2aX maintains we are never 1)) —

n19oIN addresses an additional issue which will increase the °ax7 Xn129:
= 29 NO8Y DY NYY HY INIY VIN NN NP AYNRN PPNT 93N0VNT PNY 13929 9N NI

Additionally, the »''1 states that logically the woman does not acquire the v (and
therefore not divorced) which is written on a leaf of an 2121 Y92, she does not acquire
it -

- L1abyhn nP93% AP RYY AT 95 NN IN YO8¥N NIPWNI
By merely pulling the 2y or lifting it (as one is usually 712), as long as the

nurturing of the leaf did not cease -
= 13gryata PrINOW 1Y NIP KD \O8Y J¥aY DIYAT D¥a 991 1271902 1399INRTD

As the X3 rules shortly, ‘the owner of the plant sold to the owner of the 32,

the y°x¥71 5v2 does not acquire the plant until he makes a 7Pt in the plant -
= 1455w NYWA 1992901 222WN YNINT NIP R NI8YN NIYWNIa YaN

However by merely pulling the y92» he will not acquire the plants because they

are still considered attached at the time of the 779wn —
=Y 2909 Ny 5",7\0‘1 DIVN AN PIVUINT NN

So, based on the aforementioned, this which 2R validates the v because he takes

and gives her the entire y>xv -
- NOSPN NP NPOIAY DIPNA INNIINT 1IN

That is when he put down the v in a place where the nourishment of the y>xv

ceases (for otherwise the woman cannot acquire the 03 by mere 72°wn or 7772371) -
= 2P \8ya »AN 9YINT 290 NMIAI NN NHYNT

So now the novelty of 21X is even greater; that he is 2>22% by an 221 Y93V -

19 Indeed it would be a greater w1 mn for X271 if the NPY2m» was 2393 1R (that even though it is not ¥pp% 921 the issue
of ¥>xp 0 still exists); however that would be a X117 wi17°n. When we cite the np1?nn in a case of 23p3, and »ax
is Pwon that is a R7p? win. Generally we prefer to state a R91p% w17°n over a R1mn> Wi (for 7°7¥ R1°NA7 ).
' The plant continues to nurture from the ground as long as the perforation of the y°xv is exposed to the ground. To
stop the nourishment one must either close the perforation, or place the y°X¥ where it is not exposed to the ground (on
a table, etc.)
12 %,2. The case there (relevant to us) is where one person owned this °¥v and another owned the plant growing in
the yoxy.
13 One acquires 77u7un through either 73°wn (pulling it) or 77237 (lifting it). One acquires ¥R through ARt (or A03
quw). In this case he must do something to the plant which indicates his ownership (watering or pruning it).
14 Similarly by the v3 of the 2171 >3, the woman will acquire the 3 (and become divorced) only if the 7%y NP> will
cease (see footnote # 11). See ‘Thinking it over’ # 2.
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- AP0 NPIDA NYI YON NPI1N NPIVDA 1Y 25797 13591) KT
For we are not 91 in a case where he gave it to her in a manner where the
nourishment ceased, on account that he may give it to her in a manner where there

iS no 75197 NPYeB. The (greater) novelty is that there is no such 77713, even though it is very
likely that he should give it to her without 1np°1° 709 -
= NINP Y0INN 29N YN KD 151nP239N NPIVA NY I5Y TSV 29 DY N ) 1D ¥IWN NP

And 21X is also informing us that even though he is required to give it to her in
a manner that will cause 71157 npYop,!6 nevertheless this is not considered as 207
TROXD —

mooin offers support for n"1 N w that any 7x°%p makes it 9109:
= 0513539 YI99Y IR 91 PN 1%

And the >''1 brought a proof to the view of the n"'- -
= 3959W) NYAP NYIIN 90INN HNTIN Y 99Y (x,00 97 poin) DTN DI P99 2PYNT

That in 2777 %102 299 the X3 considers the earth of an nn7a7 99y as lacking in

‘uprooting, gathering and burning’; and nmson concludes -
= 19731 9% 99Y 91201 1T 9P V) 92NN AYNI AN

That a vx is considered more attached to a large parchment than the attachment

of the earth by an nn7in 9%, so therefore if the N7 °Y oY is exempt from being burnt
because if it w70 017 (similar to 7X°%p), the v (which is significantly more attached to the large
parchment), should certainly be considered 7¥°xp 201m7.

moon responds to an anticipated difficulty:?

15 One may argue that the 2391 7°%¥ (even after the 03 is written on its plant leaf) is considered ¥pP% 72177, and when

he gives it to her in a manner of 7°1°7 np°0d it should be considered that he is removing it ¥217°3 and it should be

considered ¥ Xp 1017, therefore »ak teaches us that in this case it is not considered 1%°¢{ 7011 since he is not actively

cutting away a 12117 127, he is merely giving it to the woman in a manner the causes 77°1°77 Njp°09.

16 These are the various 2w17n of »2ax that we are introduced to by having the np2m» by an 2301 p°xv; 1) that even by

an 231 pUxy it is N and there is no 77713, 2) that we are not M3 giving it 7P° NP*OD X712 WK 72° Np*od3, and 3) that

77P°1° Np°od is not considered X°Xp 0.

17 An nnTan v is a Jewish city in 987w yIX in which (most of) its inhabitants are serving 777 7712v.

18 Regarding an nn7an v the 770 writes (in 17,3 [87] ©°727) that NRY Y3 DX WRI PRI 7277 7I0 9% apn A°50 92 nX)

71V 7320 X2 229y PR A7) 08 M2 992 Y9 3. One is required to burn all the assets of the nr737 7. The X»3 there

exempts the burning of the earth of the nr717 7°Y because the 105 writes N9 W1 y2pn, however regarding the earth

there needs to be first the 7w %n (uprooting), the removal of the earth from the ground, and that is not included.

19 Earth is not that much attached to the ground for each piece of earth is its own entity, and one can just as easily

reattach the earth to the ground as it is to remove it. However the 03 is definitely attached to the rest of the parchment;

they are one piece, and once cut off it cannot be reattached as it was originally. See ‘Thinking it over’ # 3.

20 The 710 writes (3-23,8 [R¥N] 2°727) that yya 9y 0923 P70 K2 30 .7y 5Y DR D770) MaIm) ) LOWA Xun WWR2 M2 93] 2D

131 RITT 012 3372pR 113p 3. We derive that 7"2 min» *2>11 have to be hung after they die and then be buried together

with the wood on which they were hung. The 0°»or maintain that we cannot hang him on a tree, for then it would be

necessary to chop down the tree and bury it with the deceased. However this cannot be for we derive from 7127 3 that
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- (3, 97117mE) 1771 )3 P92 HYIYN HDINN NIND AXIWIN NNPY PUN KYT XM
And the reason the 2°»o17 in 1977 9231 292 do not consider a beam stuck into the

ground to be 7w 9N 901R; that is -
- IND YYD YPAPY 120N YN KT DIVN

Because it is not considered that much attached to the ground.

n1voINn concludes:
- AWYP H0INN YN ) 95PN THNI XPYT DN 19529

And according to the n''=, only a 3 which is cut off from a large parchment is

considered 71352 907 (and is 7100) -
= NP Y0INND 2902 2PYN R IMAMY PYIYY 1195 VPN 927 VIN I TN DAN

However if one cuts off a slight amount from the vx as they are wont to do in

order to beautify it, that is not considered 77X°2p 207" -
- 21yhy5 Y1) 15279 PITY DT (3,1 DIYY 199NN TS

As the X713 stated previously; he cut off the date from the v and he gave it to

her, etc. what is the ruling is it 7w> or not. Similarly -
— (3,9 99V 9591 2) 111 NIMNY NN )2 NVIYY HVIY P2

Regarding the case where the husband says, ‘I am giving you the v but the paper
on which it is written, is mine”’ (it is 7109); the X713 there queries what if he says the

paper between one line and the next is mine, or between one word and another
is mine (the X3 does not resolve this query). The X »3 does not say?? that it is 9109 since it is
IX%P 0N -

$NNNP 90NN PUN KD VYIN 1277 YIYN

This indicates that cutting a small amount is not considered 77%°2p 201, only
when it is 2173 79pn 0.

Summary
There is a dispute whether 7%°%p 2011 applies only to 1"va or ¥pIp? "N, or it

applies to everything. The 717°13 of 0wp> X»Ww is only where it is reasonable to expect
it. The woman is not divorced with a ¥} on an 21p1 y°X¥ unles 1np°1° 1posl. However
this is not considered 7¥°Xp 7011, A minimal cutting is not considered n¥°Xp 01N
y"ob.

T2 AXOXP N0INAW T KXY 7712 KPR 101 11°KW ». Therefore we hang him on a detached piece of wood which is impaled
into the ground. The question is why is this impaled piece of wood, also not considered 7w°2n 101Mn?!
21 The x7m3 does not say that it is 2109 since he cut off the 17 so it is 7%*¥p 70I1; proving that this is not an issue.
22 The n">77 "n asks where is it indicated that he is cutting away the paper between the lines (or words), that it should
be considered 3 gp 0. He is merely saying that he retains ownership on the paper. See 7wn nniand 777 on? n°2
PN MX..
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Thinking it over

1. The 0”1 maintains that cutting a v3 from a 7173 772 is considered nx°xp 7017 and
is 9100.2 Generally the idea of 7¥°%p 707 is only where it is not possible to do the
act unless there is a n¥°%p (for instance if he wrote a 3 on a ¥YpIP% 1211, so he cannot
give it to her unless there is 7%¥°%p); however here he can give her the va with the 77p
9173, so why is there a problem if he is y¥1p the va?!1%*

2. In the case of 211 y°¥¥ YW 7% ¥ 120>, where noon writes that the woman is not
7P the vx (and divorced) unless it was WP 7p0d;% what would be if it was not
NP> P09, but the woman made a 7Pt on it; is she W or not?2°

3. The *"1 brings proof to the n"7 nv*w (that every n¥°¥p even not ¥YpIPH 1217 is
considered 1¥°Xp 10171) from the case of NM717 7Y DY (which is considered 101
mw¥p).2” However seemingly the "1 would agree to this since the 79y is ¥pp? 12
(so we say it is 7¥°Xp/aw N 101n), however how can this be a proof to a v written
on a 773 a%p which is not yppH Nnn?!28

23 See footnote # 6.
24 See YW "10.
25 See footnote # 14.
26 See nwn nom and TopPN NI I A N
27 See footnote # 19.
28 See mwn noma.
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